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92 28p (28=>) 07:30 422

B OPER ey AN I B JF AR H] A

1 08:00 9322 65kl  prig - 54, BHA
2 08:00 FF% T0kli  peg - £HB4, P64
3 08:00 ¥+ 7okl  ped - £H3IA, B34
4 08:00 F =+ 80kl Bt - H]A, B A
5 08:00 ¥+ 8bklkr  pE g H]A, B A
6 08:00 ¥+ 90k  prif g H]A, B A
7T 08:00 =& ThHhgkie &4 (4006) - QA BDA
8 08:00 ~+’ 80k 1% (400G) o H]1A, B4
9 08:00 ¥+ Thgkie  #4(1KG) g £HZA, B34
10 08:00 ¥+’ 80k 44 (1KG) g HA4AL B4
11 08:00 ¥+’ 90k 44 (1KG) g QA BDA
12 08:10 ~ =+’ 45,k =  5000M o 1A EBELA
13 08:10 ~=+‘ 55%,k=  5000M o 1A EBELA
14 08:10 ~=+‘ 602  5000M e H3A, FHIEIA
15 08:10 ¥+ 55%k=  5000M s 2104, & B84
16 08:10 ¥+ 602  5000M e H64, B4
17 08:10 ¥+’ 65%k=  5000M o EHA, FHIEDHA
18 08:10 ¥+ 80fk=  5000M - F 1A, ERELA
19 08:10 ¥+ 85%,k=  5000M - F 1A, ERELA
20 08:10 ++ = 50%kxE &4 (500G) - 54, BHA
21 08:20 3+ = 30kxE 4 (600G) - H]1A, B4
22 08:20 +3F = 35kE i (600G) - QA BDA
23 08:20 +F = 40kx 4 (600G) oy HA4AL B4
24 08:20 +3F = 45k x4 (600G) oy H64, P64
25 08:3b ¥+ = 65k 454 (1KG) - F H64, P64
26 08:30 ¥+ = TOki 454 (1KG) - F H64, P64
27 08:50 ¥+ 2 55k g - F HA4AL B4
28 08:50 ¥+ = 60k  priE - F HAAL B4
29 08:50 ++ = 5H5%kxE 4 (500G) - F HAAL B4
30 08:50 ++ = 60fkx 4 (500G) - F H]1A, B A
31 08:50 + 3+ = 65%kxE 4 (500G) - F QA BDA
32 08:50 +F = TOkiz 4 (500G) - F QA BDA
33 09:00 %=+ M24f& %= 5000M - 1A ERLA
34  09:00 + =% 25k  5000M - F H2A FIB2A
35 09:00 %=+ 35k  5000M - F H2A FIB2A
36 09:00 ¥+ = M24f& = 5000M - F H2A FIB2A
37 09:00 9+ = 30fkzz  5000M s H3A, BRI
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35k X 5000M o R4L, BiR4
407 5000M s R4L, BiR4
45k & 5000M AR 04, & gD
504 = 5000M g £54, #E5L
THpk & 478 (2KG) o 14,514
607 444 (1KG) o 564,564
50 % 4 478 (3KG) s E5A BG4
SRy &7k (3KG) s 534, B34
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60 = 43 (3KG) o 14,514
654 = 43k (3KG) s 34,34
0p e pE - F 14,514
35k B3 s LA, 214

24, B2
14, B4
14, B4

Bt - F
B3 - F
B3 - F
B3 s 14, P14

B3 s 24,24

Bt s 524, P24

B3 s 14, P14

B3 s 14, P14

B3 s 14, P14

1 (7006) s 84,84

16 (7006) i H4A g

100M s £54, & g5

100M s £54, & g5

100M s £TA, #HBTA

100M s £54, g5

100M PR 114, %52%, #E84
100M LR o 104, »2%, % B84
100M s 94, & B84

100M s ETA ERTA

100M s £84, 1 B84

1 (8006) g £14, 004

1 (8006) g 124, P24

116 (8006) iR £TA, TR

116 (8006) i £54, P54

100M R ETAERTA
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80 10:16 ¥+ 2 T0kx  100M AR ETA,EIRTA
81 10:19 9§32 T5%kx  100M AR AL E IR
82 10:20 § 3 5Hkle B3 H-F EAA B

83 10:20 ¥ 3 60Kkl B3 AR EBA, BB A

84 10:20 § 3 GHKkle B3 AR £54 BG4

85 10:20 + 3 M24fk = &7 (4KG) AR E£]14, B4

86 10:20 + 3% 35%ke &7k (4KG) g EQA B4

87 10:20 + 3 40%&e &7 (4KG) g £34, B34

88 10:20 + 3 45k &7k (4KG) H-F E 4L B

89 10:22 32 80kx  100M g E£34, FIRE3A
90 10:22 93 &= 85%k = 100M g 1A, EIRLA
91 10:22 § 3= 90k =  100M g 1A, EIRLA
92 10:28 +3Fx 25%x  100M g E1A, EIRLA
93  10:28 + 3= 30&x  100M g E2A, HIRE2A
94 10:28 +3 = 35%x  100M g E1A,EIRLA
95 10:31 +3 = 40%&x=  100M g £64, 3% E64
96 10:34 3 x 45% = 100M g £54, FIREHA
97  10:37 +3x 50%&x  100M g E1A, EIRLA
98 10:37 +3x 55%x  100M g £54, FIiREHA
99  10:40 +3 = 60%&x  100M g E1A,EIRLA
100 10:40 + 32 T70f&kx  100M g E1A,EIRLA
101 10:40 + 32 T75%k=  100M g E24, HIRE2A
102 10:40 + 32 80f&x  100M R E1A, EIRLA
103 10:45 + 3 & 45% % 8OMH(0. 762M) s 1A, EIRLA
104 10:50 ¥ 3= 70k  SOMH(O0.762M) AR EA4X R4
105 10:50 ¥ 3 75k  8OMH(0.762m) s 1A, BIBELA
106 10:55 + 3= 25k  100MHCO.840M) A% 1A, EIELA
107 11:00 9+ 602  100MH(0.840M) A% E1A, EIRLA
108 11:00 9+ 65%k%2  100MH(O.840M) A% E24, HIRE2X
109 11:00 9 32 402 =4 (800G) AR ETA BT A

110 11:00 ¥ 5 2= 45%k = 14 (8006) o ETA BTA

111 11:05 93 502  100MHCO.914M) A% £54, F IS4
112 11:05 93 55%%  100MHCO.914M) A% E24, HIRE2X
113 11:10 93 302  110MHC0.991M) A% 1A EIBELA
114 11:10 93 35%%2  110MHC0.991M) A% 1A, EELA
115 11:10 93 402 110MHC0.991M) A% E34, FIR3A
116 11:10 9+ 45%%  110MHC0.991M) A% 1A EIBELA

11:30 B %24

WKL 220 % 0 347 FIRR S o LR R T L S R

YRk A B 8ok P ¥ FEL SR LAREHRLAL
pRE R H - R H o



97 28p  12:00 HAL*RBEE 12:30 #FE £ pmikbke &

117 13:00 9+ M24pk e 454 (2K6) s £34, B34
118 13:00 ¥+ 30pk= 44 (2K6) s H44, P4
119 13:00 ¥+ 35pk= 44 (2K6) s H44, P4
120 13:30 ¥ + 2= M24pk = 400M g F2AFB2A
121 13:30 ¥+ 25fk=  400M g 1A ERLA
122 13:30 ¥+ 30fk=  400M g 1A ERLA
123 13:30 ¥+ 45k phg g %64, 564
124 13:30 ¥+ 50z pg s LTA, BT
125 14:00 % =+ M24p e &3k (7. 26KG) s 14,14
126 14:00 7 + = 25k = &3k (7. 26KG) s 14,14
127 14:00 7 + = 0%k = &3k (7. 26KG) o o H44, P4
128 14:00 % + = 35k = &3k (7. 26KG) o o £04, P54
129 13:33 9+ 35, 400M s 54, HIRESA
130 13:33 9+ 40kx=  400M s 24, Fip2A
131 13:36 ¥+ 45, 400M s 54, HIRESA
132 13:39 ¥ +%= 50&kx=  400M s 84, Hip8A
133 13:42 9+ 55, 400M s H34, Hip3L
134 13:42 9+ 60&x=  400M s 24, Fip2A
135 13:45 9+ 65, 400M s AL FIRAL
136 13:45 ¥+ T0gkix  400M s H34, Hip3L
137 13:45 ¥+ 40pkx 44 (2KG) s 114,284
138 13:50 ¥ +x= Tohpkix  400M o F2AEIB2A
139 13:50 ¥ += 80fx  400M o 1A EBLA
140 13:50 ¥+ 85k 400M o o SR Y
141 13:50 ¥+ 90p&x=  400M s 24, Fip2A
142 13:57 + -+ 25k 400M s SR Y
143 13:57 ++ &= 304k 400M s 24, Fip2A
144 13:57 + -+ 40k 400M o o 24, Fip2A
145 14:00 7+ 20p,kie  B'® s o 14,514
146 14:00 7+ %= 30k B3 o o 14,514
147 14:00 9 + 2 35fk ke B3 ¥ L2424
148 14:00 7+ 40k B3 g L44, P4
149 14:00 9 + = 45k B3 ¥ 64,764
150 14:00 ¥ += 5H0fkx BB s R34, B34
151  14:00 * = 45, x=  400M g FTAERTA
152 14:05 * = 55,k 400M g 24, Fip2A
153 14:05 * -+ T0gkxe  400M s o SR Y
154 14:05 *+ 2 80kx=  400M g S Y
155 15:00 ¥+ 402 £3(7.26KG) s ETA, BT A
156  14:20 * =+ = 25pkx  1500M R 24, Fip2A



157 14:20 *+ 3= 35f&x  1500M g 24, FHIR24
158 14:20 *+ 3= 40 %=  1500M g L14, ERLA
159 14:20 * = 45 %  1500M AR 164, #HiR64
160 14:20 * == 50f&x  1500M AR L14, FRLA
161 14:20 * == 5H5f%x  1500M AR L14, FRLA
162 14:20 3= 60f& &  1500M g L14, FRLA
163 14:20 * == T0&x  1500M g L14, FRLA
164 14:20 * 3 &= M24fk e Bz g e
165 14:20 * 3 &= 256fki  p'ig g E1A, B 14
166 14:20 %3 &= 30k  pig g £34, B34
167 14:20 * 3 =& 35kl piR g R24, B2
168 14:20 * 3 =& 40k  pig s R24, B2
169 14:30 5 + = M24%& 2= 1500M s £24, F g2
170 14:30 5 + = 25 %  1500M s L14, #RLA
171 14:30 5 + %= 30& %  1500M s £64, #iR64
172 14:30 5 + = 40& %=  1500M s ETA ERTA
173 14:30 5 + 3= 45k % 44 (2KG) s £84, B84
174 14:40 5 + = 45 %  1500M s L84, #iR8L
175 14:40 5 + %= 50& %=  1500M s L84, #iR8L
176  14:50 ¥ + = 55k x  1500M s £64, #iR64
177 14:50 ¥ + = 60& %  1500M s R14, #RLA
178 15:40 ¥ + %= 45k e &7k (7. 26K6) o L9484
179 14:50 ¥ + %= 65f&%x  1500M s R44 E R4
180 14:50 ¥ + %= T0&x  1500M o o R24, HiR24
181 14:50 ¥ + %= 80f&x  1500M o o R14, #RLA
182 14:50 ¥ + %= 85k  1500M o o E1A, #RLA
183 15:00 *+ & 45k gig s H24, B2
184 15:00 *+ %2 H0fke  gig s H24, B2
185 15:00 *+ %2 bHHfkle  giR s £34, B34
186 15:00 *+ & 80k gz o o E1A, B 14
187 15:10 ¥+ 50z 454 (1.5KG) s o 194, B84
188 15:10 ¥ =+ 55k x 44 (1.5KG) o o £54,BH¢4
189 13:30 ++ T0kx &3% (3KG) s o R24, 24
190 13:30 9+ 804 &3k (3KG) s o £34,P34
191 13:30 9+ 904 &3k (3KG) s o L1454
192 15:30 + =+ 25k x 4002 = &%+ s o £ 1F%, P~115
193 15:30 + 3+ 30z 4002 = &4 g £ 1F%, P~115
194 15:30 + =+ 40z 4002 = &4 g £ 1F%, P~115
195 15:30 + 3+ 45k x 4002 = &%+ s o £ 1F%, P~115
196 15:40 5 + = M24f& e 4002 = 44 g £ 2F%, P~21F
197 15:40 5 + = 25k x 4002 = &%+ s o £ 2F%, P~21%
198 15:40 5+ 30z 4002 = &%+ e £ 1F%, P~115



199 15:40 95 = 35&xm 4002 ¢ A £ 1F, Bl
200 15:40 952 40k = 4002”4%4 g £ 15, B 11
201 15:40 9+ & 45 4002 ¢ A g £ 1H, B 1
202 15:50 9+ & Thie 4002 ¢ A g £ 1H, B 1
203 15:50 9+ & 65k 4002 ¢ A g £ 1H, B 1
204 15:50 9+ & T0fke 4002 ¢ A g £ 1H, B 1
205 16:00 ++ % 35k 5000Mmi A g £, ERLA
206 16:00 + =+ & 55% e 5000MEcA_ A g £, ERLA
207 16:00 ++ & TOfe  5000MEcd_ A g £, ERLA
208 16:00 9+ & 45% ‘e 5000MEcd_ o 64 464
209 16:00 9+ & 50k 5000MEcd_ A g £14,ERLA
210 16:00 9+ & 60k  5000Mscd_ g £14,ERLA
211 16:00 9+ & 65%ke  5000Mscd_ A g £34 4R34
212 16:00 9+ & TO0fe  5000M#cd_ A g £ R2A
213 16:00 9+ & Tofkie  5000MEcd_ A g £ R2A
214 16:00 9+ &= 80k  5000Mscd_ A g £14, R4
215 16:00 9+ &= 85k  5000Mscd_ A g £14, ERLA
216 16:15 9+ % 80k 154 (4006) A g L4 B4
217 16:15 9+ % 90k 154 (4006) A g L4, B4

18:00 F£2 (48342 4507 & F 205 FERE T 5-600M)

97 29p  (&E#Hp) 07:00 F4omez

218 07:30 =+ = 25k’  10000M s R24, HiR24
219 07:30 ++ = 30f%k%e  10000M s R14, #RLA
220 07:30 =+ = 45k 10000M s R24, HiR24
221 07:30 ~+=+ = 55k  10000M o o R24, HiR24
222 07:30 =+ = 60k  10000M s o L34, HIRE3A
223 07:30 ¥+ 60fk=  10000M o o R44 E R4
224 07:30 ¥+ 65%k=  10000M s o L34, B3
225 07:50 ++ = 75kl 4H44(0.75KG) g H24 B2
226 07:50 =+ = 80kl  4H44(0.75KG) g E1A B 1A
227 08:00 ¥+ T0fkle 1% (5006) s o £64,564
228 08:00 ¥+ THkle 14 (5006) g E1A B 1A
229 08:05 =+’ 5Hhkle 44 (1KG) g H24 B2
230 08:05 =+ 60fkx= 44 (1KG) s o R34, B34
231 08:05 =+ 65fke 444 (1KG) g H4A B4
232 08:05 *+ 70kl 444 (1KG) s o L1414
233 08:25 ++ =

M24 % 2 444 (1KG) e H1A B A
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400MHCO0. 914M)
400MHCO0. 914M)
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EURES VRt
34 B34
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34, B34
£TA BT
54 B4
EEROE-T SR
EUROE-3 VRt
84 1 IE8A
34, R34
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34 B34
£TA BT
54 P54
£34, B34
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14, #iE]4
24, B2 4
14, #iE14
14, #iE14
14, #iE14
14, #iE14
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214, B4

DS A A L L LA LA



276 10:00 ¥+ = 60kl HFEp3 g R24, B2
277 10:00 ¥+ =& 65Kk HERE g E R
278 10:00 ¥+ =& Tkl  HFEp3 AR R24, B2
279 10:00 ¥+ =& 80kl HFEp3 AR E1A, B4
280 10:00 ~+ % 30f&kk=  200M AR 24, FR24
281 10:00 ~+ % 35k  200M g L14, FRLA
282 10:00 ~ 3% 40f&kx=  200M g 24, FR24
283 10:00 ~+ =& 30kl = prig g H2A B2A
284 10:00 ~+ = 40kl = Bprig g H1A B A
285 10:00 ~+ %= bHhfkle = mptig g H2A B2A
286 10:00 ¥+ =& 60fkle = &ptig g R24, B2
287 10:00 ¥+ =& 65Fke = mptig s £64,264
288 10:00 ¥+ 7okl = &ptig s £34, B34
289 10:05 ~=+ % 45Kk e 200M s L34, FRIA
290 10:05 ~*+% 5H0f&kxe  200M s L14, #RLA
291 10:05 ~=+ % DHhklke  200M s R24, BiR24
292 10:08 =+ 60f&kx=  200M s L14, #RLA
293 10:08 ~=+x 80f&kxe  200M s L1A, #RLA
294 10:10 ¥+ 60fkx=  4&3%(5KG) s H4A B4
295 10:10 ¥+ 65%ke  4&3R(5KG) s £34, B34
296 10:14 3+ M24p'e  200M s R24, FiR24
297 10:14 3+ % 25%ke  200M s F44, E R4
298 10:17 ¥+ %= 30F&kk=  200M s 64, HIE64
299 10:20 ¥+ %= 35%ke  200M s L34, HIR3A
300 10:20 ¥ +%& 40px  200M s L34, HIR3A
301 10:23 ¥+ %= 45%,x  200M o o 64, HIE64
302 10:26 ¥+ 5H0f&kxe  200M s 64, HIE64
303 10:29 ¥+ 5Hh%ke  200M PREAE K114, 220, FRESA
304 10:30 ¥+ =& TOgkle 4.3k (4KG) s £64,564
305 10:30 ¥+ = Toikle 4.3k (4KG) o o H2A B2A
306 10:38 ¥+ 60f&xe  200M s LTAHIBTA
307 10:40 ¥+ = S0kl 4a7k(6KG) o o £54,BH¢4
308 10:40 ¥ + = 55kl 47k (6KG) s o £54,BH¢4
309 10:41 %+ %= 65%ke  200M g L0504, HIEHL
310 10:44 3+ % T0fkk=  200M g ETAHIBTA
311 10:47 3+ %= Thkle  200M s o L34, BRI
312 10:47 3+ % 80fkk=  200M g E1A, #RLA
313 10:50 ¥+ 85kl  200M g R1A, #RLL
314 10:50 ¥+ %= 90&x=  200M s o R24, H g2
315 10:55 ~+ % 40%x=  800M g E1A B 1A
316 10:55 ~ =+ 45% ‘e  800M s o H4A B4
317 10:55 ~+ % 5H0fkxe  800M e E1A B 1A



318 10:55 & S5gx  800M A3 24, B2 A
319 10:55 + =& G0fx  800M A3 L1434
320 10:55 & 30fx  800M A3 214, B4
321 10:55 + =& 35%x  800M A3 24, B2 A
322 11:00 734 M4  800M A3 24, B2 A
323 11:00 ¥+ 25%x  800M A3 24, B2 A
324 11:00 ¥+ 30%x  800M A3 FURYS W
325 11:04 7+ 35%x  800M A3 EURYS O
326 11:04 7+ 40fx  S00M A3 54, 54
327 11:08 ¥+ 45%x  800M A3 £84, B84
328 11:12 ¥+ 50fx  800M A3 £134, B84
329 11:16 ¥+ 55%x  800M A3 EURES W
330 11:16 ¥+ 60fz  SO0M A3 L1414
331 11:16 ¥+ 65% =  S00M A3 £34, B34
332 11:20 ¥+ T0fx  S00M A3 54, 54
333 11:20 73 M24jki  4ar(7.26K0) L 214, B4
334 11:20 7 3% 30k  4arb(7.26K0) LR EURYS W
335 11:20 73 40Kk 4arf(7.26K0) LR £34, B34
336 11:20 73 45Kk b (7.26K0) L £34, B34
337 11:25 ¥+ 80fx  S00M A3 214, B4
338 11:25 ¥+ 85kx  S00M A3 24 B2 A
339 11:25 ¥+ 90fkx  800M A3 24, P24
340 11:30 %3k 80fix = mprit A 14, B4
341 11:30 73k B80fix = sptit o £34, B34
342 11:30 73k 90fx = st o 14, B4
343 11:50 73 M4 16002 ¢ 434 A3 £ 15, =15
344 11:50 73 35fk 16002 ¢ 424 A3 £ 15, =15
345 11:50 73 A0fix 16002 ¢ 434 A3 £ 15, =15
346 11:50 7 3% 45fi 16002 ¢ 434 A3 £ 21, B2H
347 11:50 73k 25 16002 ¢ 454 A3 £ 1H, =15

97 29p  12:00 A RRER 12:30 FF L ke
348 13:00 % M24f e  4atk(4KG) o 14, B4
349 13:00 %+ 35f e 4ark(4KG) A L4, B4
350 13:00 %3 45fx stk (4KG) o £94 o4
351 13:20 + 3 504k 4ark(3KG) A £34, B34
352 13:20 + 3 % BS5fx sk (3KG) g £34, B34
353 13:20 + 3 G0& % 4ark(3KG) g L4, B4
354 13:20 + 3 & G5E e 4amk(3KG) A L4, B4
355 13:20 + 3 T0&Z Az (3KG) N Q4 B4



356 13:30 ¥+ &= M2 3000Mresz g L1A, HRLA
357 13:30 ¥+ =& 30fkke  3000Mrem g 44, Hip4A
358 13:30 ¥+ =& 35k 3000Mmem AR L1A, HRLA
359 13:30 ¥+ =& 40fke  3000Mmemz AR L34, HiR3A
360 13:30 ¥+ =& 45k 3000Mmem AR L34, HiRE3A
361 13:30 ¥+ %= 5H0fkxe  3000Mres g L1A, HRLA
362 13:30 ¥+ %= 5H5fke  3000Mmemz g 44, Hip4
363 13:45 ~+ = 35k 2000Mmemz g L34, HIRE3A
364 13:45 ~+ =& 40k 2000MMeE g L1A, HRLA
365 13:45 ~+ =& 60f&kxe  2000MMesz g L1A, HRLA
366 13:45 ¥+ =& 60f&kxe  2000MMesz g 24, Hig24
367 13:45 ¥+ =& 65Kk 2000MrRER s L1A, HRLA
368 13:45 ¥+ T0fklke  2000Mmrs s L1A, HBLA
369 13:45 ¥+ 80k  2000Mms s L1A, HRLA

14:30 B EHEspaiip =gy ~*len LagEppk
BEfe pPELL P 53480 A& @ HELAD)

See You again Xt 9% 6



